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PUBLIC woid main()
{
= Jtart the ball rolling. =~

register struct proc =rp:

register int t:

int hdrindex:

phys_clicks text_base:

vir_clicks text_clicks:

vir _clicks data_clicks:

reg_t ktsb: »#* kernel task stack base =~
struct memory =memp:

struct tasktab =ttp:

struct exec e_hdr:

% Initialize the interrupt controller. =~
intr_init(1);

s# Interpret memory sizes. =/
mem_init();
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## 3et up proc table entries for tasks and servers. The stacks of the
# kernel tasks are initialized to an array in data space. The stacks
= of the servers have been added to the data segment by the monitor, so
= the stack pointer is set to the end of the data segment. All the
* processes are in low memory on the 8086. O0On the 386 only the kernel
* iz in low memory., the rest is loaded in extended memory.
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Set up proc table entries for tasks and servers.
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for (memp = mem: memp < &mem[NR_MEMS1; memp++) {

if (memp->base == text_base) {
memp—>base += text_clicks + data_clicks:
memp->size -= text_clicks + data_clicks:
H

¥

/% 3et initial register values. =~
rp->p_reg.pc = (reg_t) ttp->initial_pc:
rp->p_reg.psw = istaskp(rp) 7 INIT_TASK_P3SW : INIT_PSW:

if t >= 01 {
+#* Initialize the server stack pointer. Take it down one word
* to give crtso.s something to use as "argc".
*/
rp-»p_reg.sp = (rp->p_maplS].mem_wvir +
rp->p_maplS].mem_len) << CLICK_SHIFT:
rp—>p_reg.sp —= sizeof (reg_t):
¥

if (tisidlehardware(t)) lock_ready(rp); -= IDLE, HARDWARE neveready =~
rp->p_flags = O

alloc_segments(rp):
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UBLIC struct tasktab tasktabl]l = {

{ tty_task, TTY_STACK, "TTY" T,
if ENABLE_DF8390

{ dpB390_task, DP8390_STACK, "DPB390" T,
endif
if ENABLE_RTL8139

{ rtl8139_task, RTLB139_STACK, "“RTLB139" T,
endif
if ENABLE_SB16

{ shl6_task, SB16_STACK, "SB16" ¥,

{ sbhlbmixer_task, SB16MIXER_STACK, "SB16MIX" ¥,
endif
if ENABLE_PRINTER

{ printer_task, PRINTER_STACK, “PRINTER" ¥,
endif
if MR_CTRLRS »>= 4

{ nop_task, CTRLR_STACK, "(c3 T,
endif
if MR_CTRLRS »>= 3

1 nop_task, CTRLR_STACEK, ez ¥,
endif
if NR_CTRLRS »>= 2

_1{ nop_task, CTRLR_STACK, "(c1y” ¥,
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truct tasktab {
task_t =initial_pc:
int stksize:

char namel81:
¥
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